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Updated!1.|2017 NEW 300-115(SWITCH) PDF and VCE Dumps 242Q&As  Download:

http://www.braindump2go.com/300-115.html 2.|2017 NEW 300-115(SWITCH) Exam Questions & Answers:

https://1drv.ms/f/s!AvI7wzKf6QBjgSVgicaB52AMWrK2 QUESTION 1Refer to the exhibit, which statement abort the current

configuration on port GigabitEthernet2/0/1 is true?  

  A.    It is an access port configured for a phone and a PCB.    It is a trunk port and the native VLAN is VLAN1C.    It is a trunk port

and the natrve VL AN m VLAN 700D.    It is an access port in VLAN 700 Answer: B QUESTION 2Which two statements about

default FHRP behavior are true? (Choose two) A.    A backup GLBP active virtual gateway can become active only if the current

active virtual gateway fails.B.    Preemption is enabled by default.C.    Unless specifically Configured, the priority of an HSRP

router is 200.D.    A standby HSRP router becomes active if it has a higher priority than the priority of the current active router.E.   

A VRRP backup virtual router becomes the master router if its priority is higher than the priority of the current master router.

Answer: DE QUESTION 3If StormControl is enabled on a port and the traffic reachesthe configured level, which two actions can be

configured to occur? (Choose two) A.    TrapB.    notify adminC.    redirect trafficD.    logE.    shut down Answer: AC QUESTION

4Which two options are advantages of deploying VTPv3? (Choose two) A.    It stores the VTP domain password securely as a

SHA-1 hash.B.    It adds an FCS field at the end of each VTP frame for consistency checking.C.    It supports the propagation of

private VLANs.D.    It supports the use of AES to encrypt VTP messaging.E.    It can be configured to allow only one VTP server to

make changes to the VTP domain. Answer: DE QUESTION 5Which statement about HSRP, GLBP, and VRRP is true? A.    VRRP

group members communicate using multicast address 224.0.0.102.B.    MAC address 0000.0c07.acOc indicates that default gateway

redundancy is provided through GLBP.C.    HSRP group members communicate using multicast address 224.0.0.18.D.    GLBP uses

UDP port 3222 (source and destination) for hello messages. Answer: A  !!!RECOMMEND!!!  1.|2017 NEW 300-115(SWITCH)

PDF and VCE Dumps 242Q&As Download:http://www.braindump2go.com/300-115.html 2.|2017 NEW 300-115(SWITCH) Study

Guide Video: YouTube Video: YouTube.com/watch?v=F80pJHRw-Xc
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